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1 M80 7.24.39 HEh 14 | 512 |Erh IEF (81)
2 M75 DNS HRE 13 | 2346 |F7EH EX (717)
3 M75 9.18.32 JIs T 14 22 [lUX (77)
4 M75 DNS JIli§ T 14 | 504 [EX FEdh (75)
5 M70 DNS JIgs T 14 | 1542 |B8O0 EH (74)
6 M70 6.41.52 &R ™ 14 173 |HA{ F/\ (72)
7 M70 6.04.44 EXt 14 | 500 |T@k EA (70)
8 M70 DNS B 14 | 550 [fpJ)Il = (70)
9 M65 5.58.33 23—l 14 | 1855 |fEEMA ‘= (68)
10 M60 6.19.64 FE8ET | 14 | 770 |t FEk (64)
11 M60 6.10.27 #HiRkH 14 | 1710 (B8 Dt (64)
12 M60 5.16.79 chER 14 | 1813 [/NVEB 5 (61)
13 M60 DNS BER 11 881 |#4)Il BRE (61)
14 W55 5.41.40 BEER 11 | 1013 |BHIAERF (57)
15 w50 7.02.23 HEAR 13 | 3371 |[ELEEF (52)
16 w45 5.48.73 FER 12 | 666 |[/NNUEEF (47)
17 w35 7.48.42 HEh 14 | 1798 |AEBEERETF (39)
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1 M55 5.14.90 BEh 14 | 1635 |[3=9 AA4} (56)
2 M55 5.45.46 JIlusTH 14 | 1715 |8RA WA (56)
3 M50 5.12.89 R 14 | 1717 [hn3E B— (54)
4 M50 DNS R 14 | 1819 (AKX fE= (53)
5 M50 5.18.16 HEH 13 | 2211 [tk E— (53)
6 M50 DNS R 13 | 3663 |&%F F— (52)
7 M50 DNS #ETh 14 | 1840 |# & (50)
8 M50 5.06.09 BETh 14 | 1612 [/INE ¥— (50)
9 M45 DNS #Eh 14 | 1621 (#1E R%= (48)
10 M45 45427 = 14 | 1633 |3 B (48)
1 M45 45592 XM 14 | 1447 |%ci R 47
12 M45 4.39.83 WHER 15 | 562 [AIHp K— (47)
13 M35 4.48.06 HEh 14 | 1607 |RE EL (35)
14 M35 4.30.69 X 14 | 1741 &8 D (35)
15 M35 4.40.49 BEE 11 | 1219 [/ vk FR (35)
16 M30 5.40.50 BER 14 | 1745 |—4F 2= (30)
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